



( )  $\langle t, R \rangle, t \in T(R) -$   
 $R. T(R) = \{ \langle t, R \rangle \mid t \in T(R) \} -$   
 ( )  $R, T = \bigcup_R T(R) -$  ,

[1].  $t_\emptyset, \langle t_\emptyset, R \rangle$

$R. \langle T, \Omega_{P, \Xi} \rangle, T -$   
 $\Omega_{P, \Xi} = \{ \cup_R, \cap_R, \setminus_R, \dagger_{p, R}, f_{X, R}, \otimes_{R_1, R_2}, \div_{R_1, R_2}, R_{t \setminus, R}, \sim_R \} -$   
 $p \in P, \kappa \in \Xi, X, R, R_1, R_2 \subseteq A, P, \Xi -$   
 $\Omega_{P, \Xi} [3].$  ,

$T$   
 $\Omega_{P, \Xi}.$   
 1. -  
 , , , , , , , ,

( , , [2]).

3.  $A D;$   
 ( )  $x_1, x_2, \dots;$

$d_1, d_2, \dots; f_1^{n_1}, f_2^{n_2}, \dots;$   
 $p_1^{m_1}, p_2^{m_2}, \dots.$   
 $D, -$

[4].  $x$   
 $; f(p)$   
 ( ) ;  $d$   
 ;  $\mathcal{A}$

- ( ):
- a)  $d -$  ;
  - b)  $x(\mathcal{A}) -$  ;
  - c)  $u_1, \dots, u_n -$  ,  $f - n -$  ,  
 $f(u_1, \dots, u_n) -$  ;
  - d) , , ( ), b), ).

$u$

( )

1.  $\langle t, R \rangle -$  , a  $x -$  .  $t(x) -$  , (
2.  $u_1, \dots, u_m -$  ,  $p - m -$   
 $D . p(u_1, \dots, u_m) -$  .  
 $\neg, \wedge, \vee, \exists, \forall$  (,)

$P, Q \quad G$

- f1.  $P -$  -
- f2.  $P -$  ,  $\neg P -$  .
- f3.  $P \quad Q -$  ,  $(P \wedge Q), (P \vee Q) -$  .
- f4.  $x -$  ,  $P -$  ,  $R \subseteq A -$  ,  $\exists x(R)P -$
- f5.  $x -$  ,  $P -$  ,  $R \subseteq A -$  ,  $\forall x(R)P$
- f6.  $P -$  ,  $(P) -$  .
- f7. .

( .. ,

[4].

$scheme(x, P)$  ( )

$attr(x, P)$ ,  $x$  ,

[3].

$\{x(R) | P(x)\}$ ,

1.  $P -$  ;
2.  $x -$  ,  $P$  ;
3.  $scheme(x, P)$  ,  $scheme(x, P) = R$  ,

$attr(x, P) \subseteq R$ .

$P(x) -$  ,  $R \subseteq A$ .

$s \quad R \quad x \quad P \quad P(s/x)$ .

$E = \{x(R) | P(x)\} -$  .  $E$

$R$ ,  $s \in S(R)$  ,

$P(s/x)$  .

4.

,

(membership condition) ( .. , [5]).

$d_1, d_2, \dots;$   $A$   $D;$   $x_1, x_2, \dots;$   
 $f_1^{n_1}, f_2^{n_2}, \dots;$   
 $p_1^{m_1}, p_2^{m_2}, \dots.$

$x, f(p), d, \mathcal{A}, u, P, Q$   $D.$   $G,$   
 $( \quad )$   $,$   $,$   
 $( \quad )$ :

a)  $-$   $;$   
 b)  $u_1, \dots, u_n - f - n -$   $,$   
 $f(u_1, \dots, u_n) -$   $;$   
 c)  $,$   $,$   $( \quad )$ , b).  
 $( \quad )$   $:$

1.  $\langle t, R \rangle - R = \{A_1, \dots, A_n\} \subseteq A.$   $t(a_1, \dots, a_n) -$   
 $a_i - D;$   
 2.  $u_1, \dots, u_m - p - m -$   
 $D. p(u_1, \dots, u_m) -$   $,$   $\neg, \wedge, \vee,$   
 $\exists, \forall$   $(,).$

f1.  $-$   
 f2.  $P - , \neg P -$   
 f3.  $P Q - , (P \wedge Q), (P \vee Q) -$   
 f4.  $x - , P - , \mathcal{A} - A,$   
 $\exists x (\mathcal{A}) P -$   
 f5.  $x - , P - , \mathcal{A} - A,$   
 $\forall x (\mathcal{A}) P -$   
 f6.  $P - , (P) -$   
 f7.  $,$

$scheme(x, P) - D,$   $x$   $P,$   
 $,$   $,$   $,$   $,$   $,$   $,$   $,$   
 $\{x_1, \dots, x_n | P(x_1, \dots, x_n)\},$

1.  $P - , x_1, \dots, x_n -$   $,$   
 $P;$   
 2.  $R = \{A_1, \dots, A_n\}, R \subseteq A -$   $;$   
 3.  $scheme(x_i, P) = D, i = 1, \dots, n.$

$$\begin{aligned}
 & \mathbf{P}(\mathbf{x}) - \mathbf{D} \quad \mathbf{x} \quad \mathbf{P} \quad \mathbf{d} \\
 & E = \{\mathbf{x}_1, \dots, \mathbf{x}_n \mid \mathbf{P}(\mathbf{x}_1, \dots, \mathbf{x}_n)\} - \mathbf{P}(\mathbf{d} / \mathbf{x}). \\
 & R = \{A_1, \dots, A_n\}, \\
 & s \in S(R), s = \{\langle A_1, d_1 \rangle, \dots, \langle A_n, d_n \rangle\}, \quad \mathbf{P}(d_1 / \mathbf{x}_1, \dots, d_n / \mathbf{x}_n).
 \end{aligned}$$

5.

$$\begin{aligned}
 & F, \quad F, \quad E \\
 & 1. \quad F - E, \quad ( \\
 & ) \\
 & 1 \\
 & F. \\
 & ( \quad ). \quad F = t, \quad t - \\
 & R, \quad E = \{\mathbf{x}(R) \mid t(\mathbf{x})\}. \quad F - \\
 & t = \{\{\langle A, d \rangle\}\}. \quad E = \{\mathbf{x}(\{A\}) \mid x(A) = d\}.
 \end{aligned}$$

$$\begin{aligned}
 & k = 1, 2, 3 \dots \\
 & F \quad k \\
 & 1. \quad F = F_1 \cup_R F_2. \quad F_1 \quad F_2 \quad k \\
 & \quad \{\mathbf{x}(R) \mid \mathbf{P}(\mathbf{x})\} \quad \{\mathbf{x}(R) \mid \mathbf{Q}(\mathbf{x})\}, \quad F_1 \\
 & F_2 \quad E \quad \{\mathbf{x}(R) \mid \mathbf{P}(\mathbf{x}) \vee \mathbf{Q}(\mathbf{x})\}. \\
 & 2. \quad F = F_1 \setminus_R F_2. \quad \{\mathbf{x}(R) \mid \mathbf{P}(\mathbf{x})\} \quad \{\mathbf{x}(R) \mid \mathbf{Q}(\mathbf{x})\} - \\
 & \quad F_1 \quad F_2 \\
 & E = \{\mathbf{x}(R) \mid \mathbf{P}(\mathbf{x}) \wedge \neg \mathbf{Q}(\mathbf{x})\}. \\
 & 3. \quad F = \dagger_{\tilde{p}, R}(F_1). \quad \{\mathbf{x}(R) \mid \mathbf{P}(\mathbf{x})\} - \\
 & \quad F_1. \quad E = \{\mathbf{x}(R) \mid \mathbf{P}(\mathbf{x}) \wedge \mathbf{p}(x(A_1), \dots, x(A_m))\}, \\
 & R = \{A_1, \dots, A_m\}, \quad F_1. \\
 & \tilde{p}(s) = true \Leftrightarrow \mathbf{p}(s(A_1), \dots, s(A_m)) = true, \quad s \in S(R), \quad \mathbf{p} - m -
 \end{aligned}$$

$$4. F = f_{X,R}(F_1). \quad \{x(R) | P(x)\} - E$$

$$\{y(X \cap R) | \exists x(R)(P(x) \wedge_{A \in X \cap R} y(A) = x(A))\}.$$

$$5. F = F_1 \otimes_{R_1, R_2} F_2. \quad \{x(R_1) | P(x)\} \quad \{y(R_2) | Q(y)\} - E$$

$$\{z(R_1 \cup R_2) | \exists x(R_1) \exists y(R_2)(P(x) \wedge Q(y) \wedge_{A \in R_1} z(A) = x(A) \wedge_{A \in R_2} z(A) = y(A))\}.$$

$$6. F = Rt_{\langle, R}(F_1), \quad \langle : A \xrightarrow{\sim} A - E, \quad \{x(R) | P(x)\},$$

$$\{y(R_2) | \exists x(R)(P(x) \wedge_{C \in R \setminus dom \langle} y(C) = x(C) \wedge_{A \in R \cap dom \langle} x(A) = y(\langle(A)))\},$$

$$R_2 = R \setminus dom \langle \cup \langle[R].$$

$$\{ : F \rightarrow E,$$

$$F = \{y(R) | P(y)\} - P$$

$$, \quad R = \{A_1, \dots, A_n\}.$$

1.

2.

3.

1.

2.

$$\begin{aligned} & \{ : P \quad P' - P, \\ & 1- 2, \quad z \quad R = \{A_1, \dots, A_m\} \\ & \quad m \quad z_1, \dots, z_m \\ & \exists z(R_2)G, \quad R_2 = \{A_1, \dots, A_m\} \quad \exists z_1(A_1) \dots \exists z_m(A_m)G' . \\ & \quad \forall z(R_2)G, \quad R_2 = \{A_1, \dots, A_m\} \quad \forall z_1(A_1) \dots \forall z_m(A_m)G' . \end{aligned}$$

$$\begin{aligned}
 E &= \{y_1, \dots, y_m \mid P(y_1, \dots, y_m)\}. \\
 & \quad z_i \\
 & \quad z(\mathcal{A}_i). \\
 & \quad F. \\
 & \quad 2. \quad F - \\
 & \quad ) \\
 & \quad 3. \\
 & \quad ) \\
 E &= \{x_1, \dots, x_n \mid P(x_1, \dots, x_n)\} - \\
 R &= \{A_1, \dots, A_n\}. \\
 P & \quad F_G. \\
 & \quad G \quad P, \quad G \\
 & \quad y_1, \dots, y_m, \quad \{y_1, \dots, y_m \mid G(y_1, \dots, y_m)\} \\
 & \quad F_G. \quad G \quad P, \\
 & \quad \{x_1, \dots, x_n \mid P(x_1, \dots, x_n)\}. \quad y_1, \dots, y_m - \\
 & \quad G \quad \{y_1, \dots, y_m \mid G(y_1, \dots, y_m)\} \\
 R_G &= \{A_1, \dots, A_m\}. \\
 & \quad P \\
 & \quad P \\
 & \quad \forall x (\mathcal{A}) \quad \exists x (\mathcal{A}), \\
 & \quad P, \quad x_i, \quad P, \quad E \\
 & \quad \mathcal{A} \\
 & \quad \langle t, \{A\} \rangle, \\
 s &= \langle \{A, d_i\} \rangle, \quad d_i \in D - \quad D. \quad [D]. \\
 & \quad ( \\
 & \quad G - \quad p(u_1, \dots, u_m) \quad t(a_1, \dots, a_n). \\
 & \quad G \quad p(u_1, \dots, u_m), \quad u_i - \\
 y_1, \dots, y_k & - \quad F_G \\
 \dagger \tilde{p} &([D]_1 \otimes_{R_1, R_2} \dots \otimes_{R_1 \cup \dots \cup R_{k-1}, R_k} [D]_k), \quad R_i - \\
 & \quad [D]_i, \quad i = 1, \dots, k. \\
 G & \quad t(a_1, \dots, a_k), \quad a_i - \\
 D. & \quad R = \{C_1, \dots, C_k\} - \quad \langle t, R \rangle. \\
 & \quad F_G \quad f_X(\dagger \tilde{p}(t)), \quad \tilde{p} - \\
 & \quad C_i = a_i \quad i, \quad a_i - \\
 ; X & - \quad \{C_j \mid a_j - \}.
 \end{aligned}$$

$\mathbf{G}$   $\mathbf{P}$ ,  
 $\mathbf{G}$ .  
 1.  $\mathbf{G} = \neg \mathbf{Q}$ .  $F_Q - \mathbf{Q}$ ,  
 $F_Q \quad R_Q \quad F_G \approx_{R_Q} F_Q$ .  
 2.  $\mathbf{G} = \mathbf{Q} \vee \mathbf{Q}'$ .  $\mathbf{Q} - z_1, \dots, z_k, v_1, \dots, v_p$ ,  
 $\mathbf{Q}' - z_1, \dots, z_k, w_1, \dots, w_q, v_1, \dots, v_p \quad w_1, \dots, w_q$   
 $F_Q \quad F_{Q'} - \mathbf{Q} \quad \mathbf{Q}'$ ,  
 $C_i, i = 1, \dots, p - v_1, \dots, v_p, K_j,$   
 $j = 1, \dots, q - w_1, \dots, w_q$ .  
 $F_1 = F_Q \otimes_{R_Q, \{K_1\}} [D]_1 \otimes_{R_Q \cup \{K_1\}, \{K_2\}} \dots \otimes_{R_Q \cup \{K_1, \dots, K_{q-1}\}, \{K_q\}} [D]_q$ ,  
 $F_2 = F_{Q'} \otimes_{R_{Q'}, \{C_1\}} [D]_1' \otimes_{R_{Q'} \cup \{C_1\}, \{C_2\}} \dots \otimes_{R_{Q'} \cup \{C_1, \dots, C_{p-1}\}, \{C_p\}} [D]_p'$ ,  $R_Q \quad R_{Q'} -$   
 $F_Q \quad F_{Q'} \quad C_i \quad K_j -$   
 $[D]_j \quad [D]_i'$ ,  
 $i = 1, \dots, p, j = 1, \dots, q$ .  $R_{F_1} \quad R_{F_2} -$   
 $F_1 \quad F_2$ .  
 $F_G = F_1 \cup_{R_{F_1}} F_2$ .  
 3.  $\mathbf{G} = \mathbf{Q} \wedge \mathbf{Q}'$ .  $\mathbf{G} = \neg(\neg \mathbf{Q} \vee \neg \mathbf{Q}')$ .  
 4.  $\mathbf{G} = \exists x(A)\mathbf{Q}$ .  $F_Q - \mathbf{Q}$ .  
 $F_G = f_{X \setminus A, X}(F_Q)$ ,  $X - F_Q$ .  
 5.  $\mathbf{G} = \forall x(A)\mathbf{Q}$ .  
 $\forall x(A)\mathbf{Q} = \neg(\exists x(A))(\neg \mathbf{Q})$ .

4. , ( )  
 ( ) .

6.

$\mathbf{D}$ .



1. : SQL- / . . ,  
 . . . , . . . . - :  
« » , 2001. - 198 .
2. e . . - . : , 1987. - 608 .
3. . . , . . :  
//  
 :  
 , 4-8 2010 , ,  
 : . - . - 2010. - . 112-120.
4. . . . - . : , 1975. - 528 .
5. . . . : [8- . : . . .]. - . :  
« » , 2005. - 1328 .